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Tim

¢ : 3 Hours Marks : 200

Instructiuns :

(i)

(ii)

Each question carrieg one mark
@8 l‘e’-"'{lg‘) w8 50‘633, Eerédo.

Choo'sc the correct or most appropriate answer from the given options to the following
guestlor?s and darken, with blue/black ball point pen, the corresponding digit 1,2,30r4
in the circle Pertaining to the question number concemned in the OMR Answer Sheet,
separately supplied tq you.

B3 D B8 BHK aiwas ;Es* K0S SITTEENDH IYFD TII B DoB
igog 1,2, 33854 3&3”\: 81!‘3:);6 OMR %3S 5165335‘3 @{1 éogps@ J&o&im e HowoRS
28850 aT/TE S Fonols iy eBEN0D DoDIBI.

; 1 !
A person gives 475 % of his property to the clder son, 325% to the younger son, 5% to

a temple and the balance of Rs. 6 lakhs to his daughter. The share of the younger son
(in lakhs of rupees) is

1 1
w8 558 83 WRS' 47=% D Sr0SSH, 327% DY) HIrdIH, 5% 28 Brocsrs

Q) DADS &, 6 vk HSrgs R, N 23505 ot (efe 6:1@0536:)
() 2 2) 6 3) 3 @) 15

I£25% of a number is added to another number then the second number is increased by
10%. The ratio of the first number to the second is

o Bomgest 25% & S06°€ Dopgo EOVB wH9h & Tod' Dowg 10% K08, ook

Sopgsd BokS Hopgsd RL]
(1) 12 2 2l 3) 25 ) 5:2

s B . 3

of his monthly salary. His salary was increased by 20%. He increased
his expenditure also by 20%. Then, the percentage increase in his savings is

28 358 08D Jo E$o 80% B NETR. ©EA8 Jedd £80 20% RS, wEt &I
pino &rd 20% Db T OFD O s st DS T

@) 20 3) 25 4 30

Aperson spends 80%

B
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4, A class has two sections A and 13 having 60 and 40 students respectively, 1845 of the
section Aand S5% ol the section B pass inan examination then the pass peccentage of the
(o sections together iy
of S080G'Y Vo Wen A, 11 o' Sdisnt 60, 40 Siub STy LTIV LA NEEH s} Loy
A TJE:':\JCJ‘ 45‘5'&. 13 ':J{f:'futr)‘ 55"% :JC}“(‘}{JT:)ICAJ l:lt’lﬁégggd. ns Doy ','Jz;_:_',.-,u G 0% "-'"!1;5’-; il
w9 2) §2 (3) S4 (4) 37
5. To pass an examination a student has to secure 45% of marks. A boy getting 295 marks
fails by 20 marks. The maximum marks for the examination is
o8 HOHS* B8gEB Dorgd 45% Srdo o Foddoh o, 295 Srdy,wr S50 w8 S50
—a =B e i Fhas V‘J [ ¥ ]
20 S0 8O DOK Samdo. w5 HOES KOF S8y e
(1) 750 ) 700 (3) 650 < @) 600
‘:LG In a fraction if the numerator is increased by 23% and the denominator is decreased by

32% we get new fraction — . Then sum of the new fraction and the oniginal fraction is

17
' 13
%8 D" vrd) 23 Tdo wod FoQ) 32 pdo i e S 54 D0 17 vivdo & 59
| ﬁézo, wded Dow Iudo
2348 2834 2483 2384
(1) = ) S 6] 2= ¢ &
2109 2190 2091 2001
7 Thetotal number of students in a class, with 44 girls and the rest 45% bovs is
44 Ssol zrdBe, D005 45% H008 erendy Gd) 088G'A Jndo ITgHhe Loy
(1) 85 1©) 80 3) 76 @) 74
8. There are 60 students in a ¢lass, One of the students weighing 40 Kg was replaced by

another student, Now, the average weight of the students inereases by 0.2 kg, The weight

-of the new student is (in kg)

28 BERBG* 60 5308 DEGIO Gyh, HoG* 40 Boirrine wdhio &b ITEY ndw
o6 B4 Sorgy © B0K0G* BOT, Ry b Sk B 0.2 B rdnem 5} wond.
6 §4 Jmgp o, B TINLG!, |

1y 48 A sz 3 4 @ 56
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9, The AYeTage of 40 numbers is 35. If two numbers 44, 45 are discarded, then the average
of the Femaining nymbers is

40 BoBEO Bty 35, i3es® Bosts Sopgen 44,45 SONY ADS Somge BN

(1) 33.5 (2) 34 £5) 34.25 (4) 34.5
—_— e

10. Ther Eare 4 numbers, The average of first three numbers is 56 and the average of the lasg s
three is 49. If the first number is 48, then the last number is1

4 Romgoon. SES* Aas Surds Somge DD 56 20 058 Kurdd SoPge
Rfitn 49, 8BS Jnsee Qowg 48 wowd D36 Jomg
(I) 40 (2) 55 (3) 39 w0 21

I1. Two persons A and B started a company with capitalS Th the ratio 7:8. At the end of the
business A and B shared the profit in the ratio 5:4. If A kept his capital for 10 months,
then the number of months that B kept his capital is

A 205 B o 986k Sggen 7:8 OQET” DeNwd 1Y 28 §01AY |FEodomrss.
Tgrorodods” SNS erginds A, B e 5:4 NGS" JohHanm. A 85 Dén2dd
10 Jven &0od8, B &5 Dinwdd ¢Gods Jve Sowg

() 9 2y 1 3) 6 @) 5

[2. Inapartnership A, B, C invest capitals in the ratio 3:5:7. If at the end of the year-,llt_he 'total
profit is Rs. 90,000, then the difference between the profits of A and C, in rupees, is
w8 eridgogoes A, B, Cen-3:3:7 IDES* nnd ir, S05)070808* Bndo erso
&t .9%;000. wond A, Co ergre ig Bdo, Srrched”,

(¥ 24000 (2) 18000 .- (3) 12000 (4) 9000

3. A,B,C stancd.a busincss with capitals in the ratio 4:5:6 which are kept for 16 mo’hths,
12 months, § months respectively. At s end_of the business, if B’s share in the profit is
Rs. 1.35.000. then the total profit, in rupees, is "
A, B, Cen 2% ;,)-45;3“606‘ 4:5:6 AD8S* “’géagaad:u;éa 3&3m 16 Jven, 12 e,

I o — sos8)Trodes’ Fost B % erm &, 1,35,000 5% 3o eveo,

& roeest,

2) 3,47,000 3) 3,67-,000 A 387,000
() 30000 @ 7
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14. A, B enter a business with capitals Rs. 3 lakhs and Rs. 4 lakhs respectively. At the end of
the year A receives monthly salary for looking after accounts. At the end of the year
A and B receive their shares respectively cqual to the amounts when the total profit of

Rs. 1,96000 is divided in the ratio 4:3. Then A’s monthly salary in rupees, is

A, Boo $63m &r. 3 ofen, 8r. 4 0 DR 08 T80 @Sodomt. grerold
SrRS0tE SoSdcrodost A Jedd %S0 BoKo0trd. BodGTrodos® SDS Indo
ergfo & 1,96,000 o& 4:3 9%)8S° DefRoDBHYE ST IvTodH &S A, Beo 770

T WoEIT. WY A BnE), 08 £do, Erarodos’,

2
= . (4) 4500

3) 42
(3) 427173

I
4015 —
97 (2) 40837

15. Two persons A and B enter into a business with capitals in the ratio 4:5. At the end of
5 months A withdraws from the business. At the end of the business, if they shared the
profit in the ratio 1:6, then the number of months B’s capital was used in the business is

256 Sg8en A, B e 4:5 348 Dipadhod’ wf Tgrod) @doRowrd. 5 Ive
Stoad Aag>o Sood SJySoani. Tg>rEo DEES orerd) T8 1:6 0 8s” H0t5H%008,

CFyTes B 85 ¢ mg&doe‘i‘ oS Jvw Jowg
) 24 (2) 18 (3) 12 4) 16

1
16. A certain amountds divided, among three persons A, B and C.’A gets 3 of the amount, B

1 ‘- _
gets — of the amount atxd C gets the remaining amount. If C gets Rs. 2800/- then A gets

E 1

B8, 500 sy C8 ame. C8 32 ooy 6. 2800/~ wond, A8 S8 sy

Cfy s, (@ 1000, . . @) 1100 @ 1200
175 Y0007 e B e et Ty el AR
1) 303 A2 03 (3) 0.03 (4) 0.003

The meés _charges" for42 students for 28 days is Rs. 47,040. Then the mess charges for
35 students for S’ZSfdéyS; 111 rupecs, is equal to o N |

42 5308 awgc;guéa 28 Sarod 2D '@age;; 47,040 &1 w028, 35 $08 dorgRed
25 Sarokh vy BB T, ErFadheest, <

(1) 37,250 (2) 35,000 . - (3) 32,250

2 el Ve OB
6-C

18.

(4) 30,000
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| -l'--_p
g- 3
() 3 (2) = & 3 "
PR .. ST ws

20. A person P started buginess with some capital and another person  joined him four
months later investing 60% more than the investment of P [£Q gets Rs. 5000/- more
profit than P at the end of the year then the profit of P (in rupees) is
Fod iR0AE* P wd 58 Tgrbo | PboHoim B Sugd T Jvoky Q wd 558
P 208 08 60% QEYS et FgrEod dodo. doddyorodos* P god Q ﬁ
& 5000/- Q&)b;’) oo 5 wdyd P Qwg), oo (8r>odest)

(1) 55,000 ) 60,000 (3) 65,000 4y 75,000

21, Ifa:b=1:2, bice=3:5, c:d = 5:4 and e:d = 5:6 then a:b:c:d:e =
a:b=1:2, b:c=3:5, c:d = 5:4 50050 e:d=5:6 wond a:b:c:d:e =
(1) 3:6:10:8:7 2y 9:18:30:24:20
(3) 15:30:50:40:48 (4) 1:2:3:4:5

22. Ifthe average age of three persons is 20 years and the ages arc in the ratio 2:3:5, then the

6. 50,000
(M 20

age (in years) of the youngest among them is 6o

Soofych Sggoe BT S0y 20 doSd)oren, T8 SaHdge QP 2:3:5 wond FOS?
©Q) D) Sadyre S8 $50%0%9) (doSdyores’)

) 12 (2) 18 L(3) 10 4) 8

In a joint business A invested thrice that of B and the period of investment of A is
twice that of B. If the share of B in the profit is Rs. 40,000/~ and if A donates a sum of
Rs. 50,000/- to a trust from his share then the amount left with A in the profit (in lakhs of

rpces) 1s

a;ép&é)oé’& FrgrGod’ Atged, B?é&gw@ I}m&oéu.ac‘aéw‘ A'bt'-'gwt'-’f soo Bliyed

D8 Bododeun G080 TETTOS THOS Baip g, 40,000/ w0, ASS Tire'

oo o LRE T30 3R, oot AR 2000 iy (VEL Erdrahse)
iy i - <) ¥ @) 15

TN
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A person A purchased a watch for Rs. 4800 and sold it (o IW 8% profit. B sold it to
C for 12% loss. The amount paid by C. correeted to nearest rupec, is

A ud w8 358 w8 885y 4800 & 0 o) B od 5588 8 rdo erwrdlb wlayd.
TN B, 12380 S8 C8& wiwyerdd. CB20DS 8y, $hid drdond 450,

(1) 4784 @) 4691 |

3y 4562 (4) 4448

25.

-
If 17-5 workers can dig a canal of 3150 m long in 36 days, then the number of workers
required to dig a similar canal of 3900 m long in 24 days is

175 008 3336 3150 Sobsg SEHS) sewddo 36 Fad! s5560n3, wiodosd
3900 Sob8 TEHF) SenSd 24 G @IS SHOVS HATO Bowg .

(1) 275 (2) 300

() 325 4) 350

Ty 2

26.

27.

If a train runs at a speed of 40 kmph reaches its destination late by 11 minutes but if it
runs at a speed of 50 kmph it is late by 5 minutes only. Then the distance travelled by the
train, in kilometers, is

2.6 Bexn Kook 40 8.2, 3o’ Dosred D 85 fSrgd) 11 ddndren sodgor D sotucd.
5 Kot 50 8.5, BKos® DoSrdn ©b KSrg) 5 ABoodrew Sr@gd soldgomr
BEH%0008. wHYE Deo [BSrEods drdo, 35 bdes”,

) 20 (2) 30
(3) 40 | (4) 50

The following table shows the marks of the 20 students of a class in Mathematies. Then
the average mark of these 20 students is

Marks 80 85 90 95 100
~No. of students 2 4 7 4 3
2§ S6£06°D 20 $08 DTERY Kedsrgos' IS Srdyee BLI IPEST v
& 20 S008 dgRe DL 76y,

Sy 0 | 80 85 90 95 100
Dorgfe dopg 2 4 7 4 3
(1) 89.5 (2) 90 &) 90.5 (4) 91 P

8-C
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An article h; . _ .
3 cach ins‘t:ag lgf“;:‘“.l‘m price Rs. 3600. By giving tWo successive discounts of 10%
i giving a discount of 20% on the marked price, the gain of the trader,
28 ST X
s %ff) BEBS 55 3600 i, oD 20% BAOLIE BT 10% FHyS Tod SO
83,083 XG0 Troe HBKIE 38y erdo, Sro0s®,
F_____(J)_ i 2) 24 "13) 36 4) 54
o —-— [T & ¥
79. The average of the least and greatest fractions among 363 i—i is
110557843
‘g)g g, E oS* EQ S KR DAY Je
o1 41 51 4l
) — Bt = —
M %o & 48 @) 30 @ 7
30. Ifaand b are positive integers such that bh< 100 and 72.48 = a[24+£6) thena+ b=
33 JrgosTen 4, b ew, b <100 58050 72.48=a[24+1—g—0J &gt o8 wiydd
at+b=
(1 15 Q17 (3) 119 4) 21
31. The greatest five digit number which is a perfect square is
mrﬁaé;ﬁd;’no @CﬁJS @a'bcg @00 @Q@U éomg
(1) =9:2856 (2) -29225 : (3) 26721 4) _93025
v Bt
0. 162+ 172+ 187+ 30.= | e ”
1) 6215 @) 7725 (3) 8215 (4) 9535
33 B, Cand D can run around a track in 24, 48, 60 and 96 scconds respectively.
. Four persons A > 7 apoint P on the track simultancously. When they mect at P again for
AlLof e Staﬁﬂie aumber of rounds made by C-is
ime
P A,B C,De® PR ] t'ﬁaé.a%: SErA T 24,48,‘99, 96 St JSHAS K,
Seariad 55@’0? o" 52 aoéas’a)' P 3g 808 By FEoRowdd- 800 FEossr PS4
a‘doédybé?e)oﬁaoﬁfag“c-séé &) Dopg : |
BokSFB O O gy S
— 7y 0 M e T @8

O 12 T e T
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34. Ifnisany odd integer “l\.er than 1 then the largest natural number amony ﬂm tollowiny

that certainly divides i.(n . 1)

= -

ne3d 1 o8

izi)k

333 A3 Ddlong vand §od St me==) 9 pdydon erioil
o8 Vo

) 24 JARIU (3) 3o (H N

LY
LV {]

The total number of divisors of 2°3%3% is (ncluding 1 and the number given)
27375 Gef), s (dwrostw) Nopg (1 1oae tR Rogpgd’ Saept)

(1) 60 (2) X0 ) 100 £ 120

Two positive integers x. v have their ged =12 and Leant, = SIS X ¢> 12, thena by =
Bod SHyToser X, ro A = 12 3R = SIS 30> 12 sond, udydo ¥ by

(1) 744 Q) 684 @3) S16 () 420

37.

The traffic lights at three different road crossings respectively change alter every
435 seconds, 75 seconds and 100 seconds. Ifall the traflic lights change simultancously at
9:25:00 hours. then the time at which the lights again change stimultancously

s 3o 55 $odde 3§ LrDF Diy SHI™ A5 DER, 75 REY S0k

ﬁ)ﬁ dos' Sedeton. ©) S Sl ¢

L

-

2339 0:25:00 Soboh 08, @ m;

L

9:%‘#5 3570 JJoFNw
(1) 10:03:00 (2) 9:30:00 B) 9:40:00 () 2d0AS

38.

]

~L.C.M. of two prime numbers @ and &, (a > b) is 319 Then, a—-2b=

Jocks warag Sopgeo, a Ho0as b, (@> ) o L3l Y. ey a- b =

® -8 @ 9 3 8 PO

; _The least number which when divided by the numbers 12, 16, 20, 23 leaves 4 as remainder

'but when divided by 7 leaves no remainder is
Jomgen 12, 16, 20, 25 o FHoRIIpely oo 4 1 dodaw, 78 oSy ERRN
Stom o, ©898) Jowy

(1) 14006 @ RS (3) e ) 1o

e et ) . 58

h s

10-C


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda2417]

GET IT ON
Google Play

£l

BooKklet Code - C

;
|
8%

T 520 of o mEmbers is 125, 1 Their HC.F. and L. CM. are respectively 75 and 150.

— e T T T— ¥l | -
e — = 2 D] thoerr e
4 = aalllT rﬁ.\.jLuo‘..-.-‘.i‘( 15
=
-~ - -_ 4
e e e e e b e s - = 4 - - - -y 7
o i - T —_—rE A = = L e Ty - - (ods)
- = 2 123 =8 = Sonsss 55000 0 SB3m 25 Sododes 150, @236,
-
-
R e,
£5 Jomim i e e e W e e Al
- 2 L_:‘—---.-__.._, e 2 i
=
%
: 1
o - ] —_—
= - /{-'

.
T ) 35

oot price of the “"1‘1 cle (in K:-) for rhe first pr_rson 15

Pu EEof SIS Q5 Semng ey Qe SIS RES ezrR8 @i,
—o Ricte Z=. 46305/- ©%: S§ e 5% o Torrd. & SRDHR0 ToaE 558 £5)
2 - o gy e p—-i:

(1) 33000 (2) 39000

3y 20000 (4) 42000

ol the ratio of the number of boys and girls is 3:2. If 30% of the boys and 20%

Ta ls ..re scholarship holders, then the percentage of students that do not get
P i

s ZaBcts =D ARS 312 sreoded’ 30% 0088, rdses® 20%

S 2) 74 (3) 20 @4 26

-~ -

\

|ad

£ Rs. 5/- denomination, n coins of Rs. 2/- denomination and
2 : tal value is Rs. 630/-. If m:n:p =2:3:5 then the
O mination whose 10 e is Rs. B ]
P eoins ;3;' Rs. 1; ‘j;’j; of Rs. 5/, Rs. 2/- and Rs. 1/- denomination coins in the bag is
rztip of the total Vi

Lo ST M, E 2/- DexsSKer oBex noBS® & 1/- dendide

A b2o contzins M coins O

24 LodS* &, 51- AN 30/ :
i 5 =8 2030 nend & 630/~ san an. monip = 2:3:5 wond & 5/,
.- fgts o) =

Co V. & /- 3BO 27>
-, ] 5-6:10 (3) 10:5:6 (4) 10:6:5

B 11-C
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44. Ifx:y:z=7:89,then £.Y .2 =
y zZ X
x:y:z="T7:8:9 wonad, -@:;3@ L e
y z X
(1) 72263156 2) 56:63:72
(3) 648:448:44) @) 441 : 448 : 648

45. x,y,z arc positive integers such that x> +y° + 2> = 8072. If x:;y = y:z=3:2, then y =
§5 JTOTW X, y, zen, X + ) + 2 = 8072 eogénanon, xix = yiz = 3:2 ©o0d
vyl y=
(1) 18 £ 12 (3) 8 4) 6

46. Two positive integers whose sum is 143, cannot be in the ratio

\
Sod X Frozoste 3ngo H43wond, & dopgen Bod AQES* Godd
w21 2) 83
(3) 67 4) 49
3 4 25
47. If 8 2(27) : > =21 .3” then a:b =
(36)°-9%.(18)
8-(27)*.6°
.,( 4) 7 =29.3% wond o3y ah =
_(36)" -97-(18)
(1) 1:8 (2) 72:3 G) 81 4) 32
48.

Given y is inversely proportional to the cybe of x and that y =2 when x = 3, Then the

1
value of y when x = > is
y o938 x Qg T8 DD SR T 53 Sotar, x = 3 wonddPk y =2 '@@31053
RENE. BBV x=§ BONRDBYh Y dens

() 234 @ 34

(3) 423 (4) 432
T s I
12-c
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and /, m, n are any positive numbers then these ratios are also cqual to:

300050 1, m, n e ;;S:\’) Somgen @woNd WK 808 ;RS & ARYER O

éézﬂéa’ncﬁoega
|

| 1
o I2x? + mzyz +n%z2 )2 ) Ix* + my2 +nzt |2
la® + mb? + nc> 1*a® + m*b* + n*c*

!
-" . 2 1022 \2 Ix* +my* +nz?
3) lx2+;7zy + nz @ (/ — :
la* +mb* +nc® @ +mo”+nc

50.

4
If 55% of 880 is 80 more than 3 of x, then x =

4 J B
880 &5* 55 wéfo x &S° 5 S0 E7) 80 85 @008, edydh x=

(1) 202 (2) 303 (3) 404 (4) 505

31

If the number 19585*2, is divisible by 3, then the smallest digit in place of * is
domg 19585*%2, 3 © erAoD2G8, Ryd * ﬁgééx@‘ &0d ©8 QX ©os
(1 7 @ 53 @) 2 44) 0

52,

5%7 is divisible by 8, then the smallest whole number in place of * is
oD 88, Wy * %"‘Sénej* &od ©d D) Fg Homg
4) 6

If the number 4513

C
somg 4513572, 83
w1 2 2 (3) 4

33

[ 4 Octobe 2008 iS Satmda}’, the“ tllE daY Of the WC‘,Ck on 28 May 20‘4 iS
r
on ay 9 |
( ) Y ;’)é d @g 3360 uﬁ !Q)Ja 20]45 doéﬁé)do 33 28 ;5 3516 Q‘,‘. d)s

o]
=" 2) wogTo 3) HEgs6o (4) wsbado
(1) &Hoardo -

——

13-C
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The time between 2 hours and 3 hours, when the minutes hand and hours hand coincide

is 2 hours x minutes when X =
. ' Y e B LA Ay 2( I , ol _1_”
ok o vy ey 53000 Beaabte QoIGh0 2 Nolw YAl ood
2,3 fobo H6gS" Hobiwdww, Qe "333_ s

X =

80 60)
i Lol B o= @y 2
11 1 [

e —

overtakes the hours hand atan interval of 63 minutes,

The minutes hand of an incorrect clock :
Then the time it gains in a day, in minutcs, I8
2,& 5889 KBoirEos® dnare Swwd 108 63 Qlnreb 2830 fobw ..‘333&3?33 oindlos,

SB9E 2802 @ KBoirdo Crgdd 5700, AT,

8 6
ShH_ C 3 54 AR —
(1) 3677 (2) 39 (3) ) 18“

Two trains of same length 80 meters, running in opposite directions with same speed
cross each other in 3 seconds. The speed of each train is (km/hr)

28 265 80 DL Ao Bod Ed)n 2,8 JK08 J&BLGM Hosrddr 3 DEDLwS wf
oA 288 o8, & 3¢ 3o (8.20/f0.02¢5%)

(1) 66 (2) 78 3) 90 4) 96

| _'5"7.‘: "Two persons A and B are 45 km apart. If they travel in opposite dircction to each other,

they meet in 3 hrs. If they travel in the same dircction they meet in 5 hrs. 1f A travels
faster than B, then the speed of A, in kmph, is

G 558000 A S80S0 Bew 45 8.00. drdod® G, ath 2808 JEBE% Bl
@or8a 3 Hobods® EendoBolrd. 36 o8 H¥¢S* Hoirsh 5 fobud® Sudetolrd.
B g7y A 3forr (Ho5red R, A Do), o, Kotk MHRTET L

(D)3 (2) 6 3) 12 (4) 15

58.

iz reached a distance of 340 km in 4 hours, It travels some distance at a speed of
90 kmph and the remaining at a specd of 6() kmph. Then the distance travelled with the
speed of 60 kmph, in kilometers, is .

28 §°65 340 8.20. 80 4 LG Bisgy06, wa £oddrod) Hobs 90 8., I08'
2000 rod) flotssd 60 6.2 Siogig (5 osnesonon. wiyds HoLss 60 8. Jrod"
HASrBoDS &G0, B DLLS', _

(h) 40 (@) 120 (3) 240 (4) 300,
- -

e
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data gj -
Read the ) Jﬂ.glven In the table below and answer questions 59 apq 60
g8 FPP VFESD H8r S0 385 598 508050 60 5 BH8s 230

[ Sehoar— e
No. of students passing Pass percentage
) In the examinations of students
T, 0 Jbgeres* & 8%en Bond S8G wond
| omygorsen 2550 w0
P 360 20
Q 520 80
R 540 90
5 20 .

59.  The total number of students appeared in the examinations is
D0Een | AT ghe Ingo Jomg

) 1840 (2) 2400 (3) 3200 (4) 3650

60. The total number of students who failed in the examinations from the schools Q, R and
Sis
A8 Q, R 50805 S &od $850s” ¢dhen 57 Indo ATghe dowg
(1) 370 (2) 320 (3) 260 (4) 240

61. P lendsRs. 15,000 to Q for a simple interest 8% per annum and Q lends the same amount
to R for a simple interest 11% per annum. Then the gain of Q in 3 years, in rupees, is

i%'*e’n& 11% srSg 58 0 RE Q olym qund. edyd 3 Soddiores’, Q& 58§,
erzo, SraroHes”

(1) 450 (2) 900 3) 1350 (4) 1800

000 amount became Rs. 8500 for some rate of simple interest. Then the

62." In4 {lears Rs, défor Rs. 1200 to become an amount of 1825 at the same rate of interest is
- period require '

(1) 5 years
wiseo 6000 87T
8500 rarasood ¥OXO

03T S5OV el - 4) éécf:;’:égmen
' (2) 6 505"5‘\)?& (3) 4 ao&’)é‘\)U’w o

L SEeET e

(2) 6years (3) 4 years (4) 8years |
ool 4 BoIHTX Fod pirsg SGOLS aSIyE> Jogo
3 33008 wden 1200 graraben, 300 1825 srdrabed
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63. A sum of money becomes Rs. 1,08,000/- after 3 years and becomes Rs. 1,92,000/- after
9 years on same rate of compound interest. Then, that sum of money is (in rupees)

Sod iny 28 BESS s 3 SosEBiwes® &r. 1,08,000/- e, 080t 9 HosH)Esnes*
&>, 1,92,000/- 00038, wiyth u o), (ErFahes’)

(1) 96,000 (2) 90,000 (3) 85,000 (4) 81,000

64. Asum ofmoney is doubled at some compound interest in 8 years. The number of years in
which the amount becomes 4 times with same rate of interest is

28 50y Fod SESFEL0E 8 Josd)sined® Toboden wHHod. vl BESH Bénd’
© Ry Teofiodes ¥IEI8 Sl dodEESwe Song
() 12 (2) 14 (3) 16 4) 32

65. An amount of Rs. 5,00,000/- becomes Rs. 5,51,250/- on some compound interest
compounded half-yearly in one year. Then the rate of compound interest is
28 Sngso &r. 5,00,000/- Fod SEI& D ©8 vLH0SHTI8 SESG §F 288, o8
B0SHE50S% . 5,51,250/- wonSs. wdydd SIES5E deo
() 12% 2) 10% 3) 9% 4) 8%

66. A person invested in three different schemes A, B and C at the rates of simple interests
- 8%, 10% and 12% respectively. The amount invested in the scheme C is equal to 225%
- of the amount invested in scheme A and is also equal to 90% of the amount invested in
scheme B. If the total interest earned by him in one year is Rs. 48,000/-, then the amount
" the person invested in scheme C is (in rupees)

28 $58 Sardhs 35 &y Soen A, B 50005 C 08 S63m srdssd St 8%, 10%
.?S:it}o'."m 12% o8 wigad DT, 9 C & 2EIGey H At DEI degys®
225% &* S-S50 Hobckw S B & S G2ne® 90% & IS0, 28 Soshosw
S8, & 5588 &, 48,000/~ Bngo 5§ 5, w1 S C&* 1S 3ndo (Erdrched?),

(1) 170,000 ~-  (2) 1,80,000 (3) 1,90,000 (4) 2,00,000

67. - A Bank lends Rs 30,00,000/- to a person P at 12.5% simple interest and Rs. 10,00,000/-

to another person Q at 10.5% simple interest, for ¢ years. If the Bank received an interest
of Rs. 16, 80,000/- at the end of the period ¢, then ¢ =

o ar,goéo P oo 3588 8. 30,00,000/- o sr8g5s 12.5% TH38, So8asn Q w
_ §§§ &, 10,00, 000/’ o @53"555& 10.5% 5’;93;6 hoof:éadé»v& Sy aD()o&
I’y 5*02»‘313 £ 5r8 WS s ergo&éo dr. 16,80,000/- 5§ 7, o3y 1=
1

M 25 Y-8 - 3) 35 4 4

———/""—\.
: lﬁ-cr ’
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68. Two persons A and B undertake to paint a house for Rs. 54,000/-, A alone can paint the

house 11 40 days and B alonc can paint the house in 45 days. A and 13 along with a third
person C complete painting in 20 days. Then, the share of Cis (in rupces)
A 300050 B o agdh Sgien, 6 20838 Sofd So0ERE 6. 54,000/ o 238700,
Add & 5 40 Sweos® Bobrod, 20050 Bafd ¢ 53 45 gwodt dohivd.
Sor 838 558 Cd%ahod, ASbosn B, rot38 Sorh Schdin 20 Gered* g Do
OB, 8 FINS* C BnY), Tt (Erarabeod’)

(1) 6000 (2) 5000 (3) 4000 (4) 3000

th

69. A person A takes 7-;15 days to finish g of a work then the number of days required for

A to finish the complete work is

5 l - -,
a8 558 A ¥ S 3 S S0 DA 7-5 Sarst g Bodred. e Jugo VI I8

BoH @8 A S 575028 Sare Sopg
(1) 9 2) 12- (3) 15 4 18

n complete a work in 20 days. B and C together can complete the

same work in 24 days. The work was started by A and he works for 8 days, then after
B works for 11 days and C completes the remaining work in 22 days. Then the number of

days required for C alone to complete the work is
A 50805 B en £ .8 59 20 Sared® Jredahied. B 50080 C o 598 ©dddD

24 Seres® LroBoDAOE. ©@ DI AB0ce0Ds 8 Swen HADRE. SOIE 11 Fare
B %28 @‘éws HAOS HIV, 22 Bered® Cird dad. vIyd, & 3 Ca5d

5r8 Bodwds Sodd Owe Do
(l; 40 (2) 36 (3) 34 @ 302

70. A and B together ca

te a work in 40 days, A sccond person Q can complete the same
7. A Pifson;; iial;:ogl 51; p and Q work together for 14 days and then P goes away. The
' work in ays.

mplete the remaining work is _
that Q takes to €Ot
number of days 5 40 S'wod’ Fidchivds. wd IV, Qe 68 g8

50
P ut fsf;;:;ﬁo@. P, Qo0 AFK EOY 14 Glapen 5 WHI SRTS, PIQasrd.
> 5‘2’??@%1"5 o QURED e |
e 10+ 3) o3 @ 8
@ 103 : :

1 :
1) 12—
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ys. Twenty women complete the same work in

men complete a work in 16 da .
B rk together, then the number of days required to

18 days. If all these men and women WO
complete that work

2 € 599 20 508 YHes 16 Faros® DK, ©3 HAN, 20 2008 Qe 18 e’ B
& H6en, R BVoSEr §OD HITR, & A JY BoHrs sm5edd Gwre Jopg

1 8 1 8
= L3 3 N RE
M 103 @ 917 ©) 915 ® 17

73. Aperson Acan complete a work in 15 days working 8 hours daily. A second person B can
complete the same work in 20 days working 7 hours a day. If both A and B work tggethcr,
working 7 hours a day, then the number of days required to complete that work 1s

2§ 538 Aes DA S8 § owren DIV 15 Sarerds® Jro Bobie. ©8 HA Bodd
558 B, &ard 7 fobren HABH> 20 Fared’ Srodohredd. Adddy Bagd €9 &8

7 fotaen HIVD, vBYE © HI YFHBCRETIE SHOVS Tare Jopg

5 3 6 [
Sl =, s 4 ik
(1)' 813 (2) 913 3) 913 (4) 10

74. Two persons A and B can do a work in 24 and 30 days respectively. After working together
for some days, A left. B finished the remaining work in 12 days. Then, the number of

days that A worked is
g8 Sg8e0 ASo8asn Ben 2.8 HAN, SEB™ 24 Beren Hodasw 30 Feres® FroBoHKLS.
208> 59D §'Q) Fore DD SHTE, A Egﬁ‘wc@. B 0AdS HAX 12 et
@*giia‘éa ohyds ADIBDS Saren
. 8 2 9 @) 10 @ 1

; 75 A merchant marked his goods 25% above the cost price and then allows a discount of
15%. Then the profit percent in this transaction is
28 G0 &5 SHHod ST §37) 25 rdo I8 ST HEBD IR 15 TEo &J,0bn
Q. & rFraIS’ IS erdTEo |

(1-)-.4-6?52-,, (2 10 (3) 12% 4 15

76. TI}Z If]‘mtfi{t:azmgg ?hselli;llg anarticle for Rs. 2500 is equal to 7 times the loss if the same is
s f.r Rs.2100. Then the selling price of the article, in rupees, to make a profit of 20% is
» 5%23525252[;2:&?’:‘0 B30 So>B0F ergfo, @8 SHH & 2100 & &95:&:50
O0° W) SRS 0. O3 &5 915057 200 g oS8 @ 3HLH
oo SedS 6, Crrabodt, J WP 20% erelo To TSR

420 2) 25 ' . j
(o, 2 ) 2580 3) 2620 4) 2680
___---‘-_‘-‘-""'-——
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77. A shopkeeper sold an article at a certain price. ITitis sold at 80% of that price, then his
loss would be 8%. Then, the profit percent at the original selling price is
o8 OFDTRW, of P Fod $E8 vanTd. © 3055, = Gdo* 80% & ""':’:”éa
38 8% $H80 Sdy08. WA, WIS W WS SES* SN ergfrBhn
(1) 20 (2) 16 3) 15 4) 12

78. A person A purchased some pens for Rs. 350 and sold them for Rs. 450. Another person
B purchases some pens for Rs. 540 and sold them for Rs. 660. Then the difference between
their profit percents is

28 3g8 A Q) Ddness 350 sriwsH £ 450 Sripsd wlerds, 568 338 B 89
?»Jé&ue:é: 540 Sries 5 660 Srchedy ss;’mé)és‘dn. 0 erdrae e HBo
400 200 200 200

(1) = (2) 5 3) €3 (4) 3

2
79. A person travels 3 of distance x km with a speed of 4 kmph and the remaining distance

with a speed of 5 kmph. If the total time taken for the journey is 56 minutes, then x =

2
28 598 x 8.0.0¢ 3 S0 EroeR) Kotk 4 8.0 Jod'Rr, DADS Sromd) Hodbr

5 8.5, oS HosrBomrd. 3080 BErerds 56 ISHTer B v =
() 2 . (@ 3 (3) 4 @) 6

80. The nearest year after 2000 having same calendar as that of 2000 is
2000 poS&y8o ST5S ©d 200030085 o ddod HosH)50

(1) 2008 (2) 2016 (3) 2024 2028

oin at 1’0 clock, two coins at 2°0 clock, 3 coins at 370 clock and so
he number of comns he has put in the box between 6.30 AM and 6,30

&1. A person put one ¢
on, in a box. Then't

PM in a day is
o 558 Hiiacso 2ol oL 28 TE°R), ok Kobresh Bot THOW, S KoLk

Sotly rBos TEYS wE ey BT, LGt gdabo 0.30 08 Fabogo 6.30

568 eyt o 0D TETE HopE

(1) 25 @) 42 3 60 \/@ 78
/——"———“ i :
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The following diagram shows the expenditure of a company on different heads A, B, C, D, E in
the year 2018. Based on the information given in below figure answer the questions 82 and 83.
2018 5 $05E)50e" DA Been A, B, C, D, E 0D .8 §00d Bwg), piye dSoroid & 808
Qgo Br8'od. IS ISrEo wrdor 82 5 So8050 83 S @Hok JSrrTdSied.

RGU

82. If the amount spent on head A is Rs. 90,000 more than the amount spent 0171\'(3, then tlﬁ,
amount spent on E in rupees is

56 AD pénEnS Iwdo, 56y Cp @tk J9S Bogo §a 90,000 & I8, FB, deg R
DS 2Ky, ErFrcdy, ]

(1) 95,000 (2) 1,00,000 W) 1,05,000 (4) 1,20,000
83. If the amount spent on B is Rs. 1,96,000, then the amount spent on A and E together, in
rupecs, is

5 B 808 2y 1,96,000 6 woxd e AS805s EenBobolp 50D ninBds

Jwdo, ErFrahd’,
(1) 3,92,600 (2) 4,08,800 () 432,600 13 4,65500

84. A dealer gets 10% of profit after giving 10% discount on the marked price of an article.
If the cost price of the article is Rs. 9000, its marked price, in rupees, is

28 g0 f S0P Boof), PI8E Jup 10 8o A0 )& SHa8 10 7o ogfo
oo, ¥ 3P FIHIe 9000 &ri wond, d WELY o, rFddos’,
(1) 10,800 (2) 10,890 (3) 10,900 £4) 11,000

85. By selling two items each for Rs. 600/- a trader gets 10% profit on one and 10% loss on
the other. The result in this transaction is
(1) gainof 1% (2) lossof 1% (3) gain of 5% (4) no loss, no gain

Dok ShaHed o) & 600/- % ey, 28503 10% erdo, 508 10% 390
SHod. & oTde 2980
(1) 1% oo é) 1% $%0
(3) 5% erdo (4) et S, S3dr B
20-C
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6. Consider the following statements.

A. If the radius of a sphere is increased by 8%, then the percentage increase in its
surface area is 20.86.

B. Iftheside of a cube is increased by 12%, then the percentage increase in its surface
area is 25.44.

C. ;f the radius of a circle is increased by 16%, then the percentage increase in its area
1s 34.56.

The correct statements among these are

(1) A,Bonly (2) B,Conly (3) A, Conly (4) allofA,B,C

80 PIBTen H8KB50S08.

A 28 B¢ o53do 8 T80 28A8, T $5080 TS DHNde Fdo 20.86.

B. =8 3odo @éb gomo 12 #do R0AS, TR &30S Jreogod® WHBEL
8o 25.44

C. a8 58 ogrgo 16 =80 208, &0 IF0gos” 1HMEe 8o 34.56

= @’:aﬁéaﬂéj sz‘:a_:;ﬁ:)

() ABSrsd (2) B,Cs@gd  (3) ACSrgd @) A,B,Cev e

.

87. The area of the regular hexagon of side 12 cm in square centimeters, is
12 20.20. zhzorr o éCSJQa?. 3T, BEEY) Dotobges®,

(1) 2163 (2) 36\3 3) 63 @) 1443

88. The area of a rectangle is 6 times that of a square. If the length of the rectangle is 16 cm
more and the breadth of the rectangle is 8 cm more than the side of the square, then the

perimeter of the rectangle, in cm, is
a8 56»&:&3(5@ dTog0, 2.8 $S0P STTEAB 6By, SSGR0 §H0 &S5 5§,i5636t{aa

53 16 20.20, 56{5@36@.0 3deny 8 o, .Déozr.;’)oauﬁ 6 B SLSRo RiRFe,

20.0.06°,
(1) 40

89. A rectangular wood

@ 48 3) 96 @) 80

piece of dimensions 8 em x 6 ¢in x 5 ¢m is cut into pieces of dimenstons

3 B R 3 - i- cm. Then the number of picces are
4 8
8 0.5 X 6720.0 x 530,

" l_ 0.0 Foden o Sng eorr 5. epubjda G Ju% o Dopg

7 3 @ 2"
Ln 22 _(2,),2,,———2—1—?()\2_[

By Fodwiio wl 5@&:&*5‘5:{3 gold g,

5
i ohgx—g-aob’



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal24(7|

GET IT ON
Google Play

AR-2 BooKlet Code E

90.

If a right circular cone has height 56 cm and base radius 42 cm, then its curved surface

-

area, In square centimeters, is

')')}
Take 7= —
( ! 7

-8 won 5D FopdH S I 36 0.0 S0 Srarg@Go 42 0. SoXB Wy

S ITogo, WIY DoBLges®,

22
[;r= 7 o éa':os‘oé]

(1) 1320 (2) 2640 3y 4620 (4) 9240

91.

The cost of a feneing around a circular field at the rate of Rs. 45 per meter is Rs. 15,840.
Then the area of the field, in square meters, is

(Takc T E]
7

w8 3T 6Y .‘Egco Sodan A&%E 45 & BES Eod 5053551';)%%&:5 P&y +5:840Tn
BwoNd, & go 3Togo, SS6Y LY,

(:r= % m é"m?o&]

(1) 9856 (2). 4927 (3) 1408 4) 2816

92.

A wheel makes 60 revolutions in covering a distance of 990 meters. The radius of the
wheel, in meters, 1s

)
(Takc = "—2)
7

990 B drdo FIT 8 w8BE0 60 Fheren BFob. & IE mgﬁ*go, h)éagé‘

_(:r=272 w ésﬁsg‘o&)
(1) 2.125 2 25 AB) 2625 4) 275

93.

The volume of a cube in cubic feet whose total surface area is 486 square feet, is
486 $E6H wdbhe 0TSO ITotor Ko 28 S0 A0, WSHOSrwo, WY

wes”,
(1) 216 (2) 343 3) 512 A4 729
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By what percentage should the radius of a sphere be increased so that the volume increases
by 200%?

a8 AP¥S0 SRooE), DSDOS:e0 200% OB T TR Do S Tdo

1 (B-1100 @ (Va-1)100 @3 (¥3-1) @ (V3-1)

95.

The length and breadth of a rectangle are 100 cms. and 60 cms. If the length increases by
5% and the breadth decreases by 4%, then, the error percentage in the area calculated
from these measurements is

28 BGIHERS0 B, P&, 3denyer 100 Do, 60 o.do. FEH Fods’
5% 06008 e, SaBc50 Sden) Pods” 4% SSH%de God, VdYE 6 Fododdariod
K308 & ég}ﬁé:d@’:‘f.g} ST oINS* FRTSD0

(1) 1.4 2) 1.2 3) 1.0 4) 0.8

96.

The sum of all two digit numbers which leave remainder 4 when divided by 11 is
11 3 zrhowsm 4 3h0 $&) Sods wose dopge Sngo
(1) 15 2 92 - (3) 400 (4) 428

97.

If in a leap year, January 8" is a Sunday, the day on August 15" in the same year is
(1) Monday (2) Wednesday (3) Fnday (4) Sunday
2% &Y DoSg)Boe® 2530 8 wBTEo ©ond oY JodE)Sos’ wHy 155 B& edlgtia

(1) F&abo (2) exndardo (3) HEzdo (4) wdzdo

98.

IfA carms 50% more than B and B gams x % ICSS than A then x =
B g0 A, 50% J83,5 0BT, S0050 AgoB B, x % 55,5 SorE wbyd x =

1
(1) 66-2,— @ 33 3) 50 @) 25

99.

W) 50

The largest positive integer k such that 12* divides (109)! is
(109)! 12X Do arhoBéad) A0G &5 Jporoko k=
2) 5l 3) 52 4) 53

e ————

106_ The number of positive integral divisors of 37800 is

37800 Gng, &5 TGOS THEC POB
(1) 24 oK) 9% (3) 120 (4) 180
_/—,/—_v_

23-C
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In questions numbered 101 to 111 pick out the odd thing among the given items.

101 o0& 111 565 Somgen o HHos* adyd TES* KT Q) JodE Fohoa.

101. 15,35,589, 143

() 99 2) 143 (3) 35 4) 15
102. 56,34, 14,7

(1 7 . @ 14 3) 34 4) 56
103. A D,LDTY

(1 @ P @ T @) Y
104.  9,49,81, 121, 169, 289

(r) 49 (2) 81 (3) 121 4) 169

R T,
105. ZA, YE, XI, WO, TU

(1) ZA (2) XI 3) WO #) TU
106.  343,1331,2197, 4913, 6859, 9261

(1) 343 (2) 2197 (3) 6859 4) 9261
107. 1156, 1444, 1764, 2430 |

(1) 1764 (2) 1444 (3) 1156 4) 2430
108. Beetroot, Brinjal, Carrot, Potato

(1) Potato (2) Carrot (3) Brinjal (4) Beetroot

DHESE>ES, S0570%, 57508, 220mrethod

(1) womrgdrod (2) sgo8s €3 SosadH (4) 5SS
109. Reservoir, River, Tank, Watershed

(1) Reservorr (2) Watershed (3) Tank (4) River

serdoho, 358, DY, TLEab

(1) werdo®o (2) F0Eus 3) 8% @ 86
110. 21Y23X, 13N15P, 9I11L, SFTH g

(1) SF7H () 9L (3) 13NISP @ 21V23X’

__—————_——___—p_‘___-““——-—_
111, TOT2, UF05, VE22, ZA26
C ZA26 (2) VE22 (3) LOI12 (4) UFO0¢
Ly PR P -
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frt guestins i *""-’-‘""Ld 112 to 114 you find on the left 140 temms/group of letters which have
4 selation betwcen them. Fill the blank on the sight with one of the options given so that the
terrs/groep of | ”'1'~r> on the right have the seme relation s the first two,

-7 Ty rd = o o ) : — Pl o o,
112 Lot 14 525 flo dted Latind uf funsdo 69 Tuh Lores/esl HEsm o
Fule L =)
Y A e R AT iR e £ =7, oL o [ o W S P 4 Yo o :
S Soer :o‘;_: ' f,’.l$,-f,{:/_; e EA :;&,,) P 'S",f;, bR¥ ‘_‘:;51,‘;. 5.,::".'#4]’-!35 '-i‘!-dl-":;".:::.- ) “:;(Jl g:"‘{-{r':' ;JJ 50@5’3@
o - e~ -
Po: A o B / - - ~ =
Sl nf-gq'-‘:ﬁ o2l s L’;’:a{j wnhb TS0k,
' .

112, FILS - 40 52 MILK -
(1) 45 (2) 50 B) 55 4) 60

113, VRIS PIUN  TOUR:
(13 VUIR (2) WUET 9% (3) VAIR _ B WAET

114, CAST : 43 :: RIPE B
(1) 26 (2) 46 S5y 48 (4) 56

115. Chose 2 suitzble option to fill in the blank given below:
Schon! @ Head Master 2 College : Principal 22 University :

(1) Covemor (2) Chancellor
(3) Vice-Chancellor (4) Director

fm

G BoE el pbudistobs w00 ';I‘:—""guumj JosEod.

i g:;"(ffrc:’go".aaci; 2 BOTO @S @ 400 gedietn !

4)  Homebilth

(1) ":.Yguu ’).«t-lwd’

116. Choose a suitable option 10 fill in the blank given below:
Amritsar - Golden Temple 22 Ajmer: Darga :: Hyderabad :

(2) Macca Masjid

(4) Falaknuma Palace

(1) Chanminar
(3) Golkonda |
b Bobs gt ottt £25 SREESS Jotogiel.

wtnGah ;g BTOEe w2l €% L phoes
(1) ouzd Q) fosy, Sb
; 4 4) Hebssr IO

(3) s ¥ L e ————

25.C
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117. Four figures arc given below. The next figure IS
o 8575000 1808 B3B8, D SHTS STy 580y

/
— X

A

{

}/‘L:-

<

/

»

(1) K

A7y 9

2

N

i G

¥

(3)
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j

@ | X

In problems 118 and 119 there is a relation between the left two figures. Choose a correct
figure from the given options such that the same relation exist with the two figures on the right.

RHeo 118 H8c8n 119 0S° AES BE), ad)S ok TN iy 2.8 dowodin &¥d. HE3Y
Q) B0k FENS® 0T Dowosn Gomen & D500 NS pYFre Hod JowhEod.

118.. @ ;

)

7
N

(2)

w0

(3)

=
e

\/(4)

N/

DA
_(7{ __ & @ AXR@)

/\ (4) A
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Answer questions 120 to 124 based on the information given below.

In the figure given below the triangular region denotes the persons who read newspaper A. The
circular region denotes the persons who read newspaper B and the rectangular region denotes the
persons who read newspaper C.

Bod adyd Gezodo wrrborr 120,508 124 BHo 68 dSrmrTres @rabod.
& BISS a)d HLod* BLhers s HBdo T B8 A $830 drdHod. SEs s a0
oy HP8 B HOITO BrD308. SodoS0 &8, S ERrs8 (Hd¥o ooz H@8 CR SO3T°0Q

FSUTATSICTAR
Pr

10 y 25

ey VYIY
y .
20

120. Number of persons who read only newspaper A is

T H88 ASrgd S8IT06 Jopg
) 30 2) 47 (354 4) 69

121. Number of persons who read both newspapers A and B is
o H@%e0 A $0050 B @2 00408 IOIT0 Doy
(1) 45 2) 22 3) 32 4) 52

%

122. Number of persons who read only one of the newspapers A, B and C is
A, B %8050 C &0} HBfest I8 2§ 8 Sr@gd I63 70 Jopg

() 120 @) 135 (3) 145 (4) 85

123. Number of persons who read all three newspapers is

Sardy oo BT $637°0 Loy

s who read either newspaper B or newspaper C 1s

124. Number of person
To 588 B8o TT J88 C 563 0 JSopg
| 121 (3) 219 14) 174

oy M- W
27-C
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Joser A SR, BavTR o', Si35omy) » 88, Locko zsioy V ke
s o B L] e "0 70 €3 col
oy e 324L15A6V2=
L X (3] = 5 o3
v ! 2 Q) - w(4) 12

126

126. From point P. 2 man nides a cycle 9 km towards East. Then, he rides the cycle 2 km
towards Nerth. From there, he nides the eycle 3 km towards East. Finally he rides the
L . et N : g .

cycle 3 km towards North to a point Q. Then the distance between the points P and Q is

(in km)

28 358 BodsP PRod, drsn3hs 953 BES S 5. S038, 68550358 2 8.
285 S o, 598 o SIS 3 5D RIS FEeh. 0365, 445503584
3850, 28S 55, Do QI5% SHha-ds. vyl DotbHes Pbass Qdy Srsss
(5. Do o5

a 17 () 135 (3) 13 4 12

127 A person walks 3 km towards East. then walks 3 km towards South, then walks 7 km

towards West and stops. The distance from the starting point and the end point is (in km)

3 8.5, SHTK, $87°8 3 8.0, $i0Sn3D SHTD, $6778 XIS

7 5.5, 389, sadiad. eI SEE Jedes DES DodD Sood I48 SHIVS DodoIw
By SedSw (8. . )

M s Q) 7 3 9 # 13

128. P+ Q means P is the daughter of Q, P * Q means P is the husband of Q. IfP + Q * Rthen
which of the following is true?

() Ris the mother of P (2) Ris thesister of P

(3) Ris the mother in law of P (4) Risthe brother of P

P+Quod wgo Q8 %53 P, P* Quod sgo, Q8 &G P FFUT Kgand S
$0d T8S* 8 $8g0?

§7] P§e§2[{ () PgaQ'R
(3) PsegR @ pg sk R
DO o v
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129 which of the three figurcs from the following five figures A, B, C, D and E form a

squarc?
& o6 asgwas o8 sbswe A, B, C, D300 Eodtd dwd st o8

SS6H58 eS5BT00?

RRRANE

(1) BCD u&) ACD (3) BCE, @) ABEs
130. If the paper in the following shape is folded to form a die then
1]
2314
9 |
6
a) | lics opposite 6.
b) 2 lies opposite 4.
¢) . 3 lies opposite 5. |
Then the true statement(s) among (a), (b), (c) is(are) | =
(1) b only (2) aonly (3) bandc aa
& (808 Erdod’ fo 5158380 5080 2.8 ST BRSIyE
2]3[4]

O\lUl lad | —

a) 18 a6 &otnod
b) 28 Jodor 4 ¢oinod

c) 38 s 5 &odod

o0 v b , C e)ej" éés@éﬁé&j(w)

&8
/)j g () aiER

29-C
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131.

Among the given four options, which one when placed in the blank space of given figure
would complete the pattern symmetrically?

aﬂaé H830e5° @ "{gvoef 8538 aarjé Te0id m&aééwe;ﬁs FaFAN) @;’)J&'ioo s Jbo
Fadomr rdydoed?

(1) (2) 3) 4)
5

132,

If the image of a clock in a mirror shows the time as 6:30, then the actual time shown by
the clock is

wdod® u¥ KAasrdo G0, B8Domo HHcsrA) 6:30 ¢V Wy ¥ KAEF0
SorDod wdHen JdHcdho
(1) 6:30 2) 9:30 BG) 5:30 @) 2:30

13,

£ P is the brother of Q, Q is the daughter of R and S is the father of P, then how is R
related to S?

(1) Husband (2) Brother

(3) Wife (4) Grand father

Q8 P&rsdd, RS %300 Q, H08c%0 P8 Soid S wond wdHyE S8 R Q%09 &8?
(1) &8 (2) P

m el (4) &S

134. IfAi1sB’s brother, B is C’s sister, and C is the mother of the boy D, then D is A’s

(1) Sister (2) Brother (3) Uncle wige2 (@) Nephew
B Gog, &6ds A, C 08, F68 B S00a50 erestd D &ns’b $9 C, ©ond oyl
D, A&xE),

(1) a8 (2) DFEEE B) Srsacddgl A (4) MRe0ao

30-C
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133, Showing a lady, a man said “The son of her only brother is the brother of my wifc”, then
the relation between that lady and the man is

(1) the lady is a sister of the man’s father-in-law
(2) the lady is the man’s sister-in-law

(3) the lady is the man’s mother-in-law

(4) the lady is the man’s sister

o8 g8 &8 Cg&) Srddr “Lo I3E FEEOD §’<:‘§-:§0 T gk F66t viety waT)dd,
sowd © 98, 3588 Hdg Ko Sidlo

) = Eo. © 3588 Sromd S0

Q) = Q © 3588 553 B8 Soseo

(G) s Ca; s 3588 edmd

(4) © & s 5588 60

Read the following: .
Six students P, Q. R, S, T and U sit on the ground at the vertices of a regular hemgoq. Pis
neither adjaceny to Q nor R. S is neither adjacent to R nor T. Q, R are adjacent. U is in the

middle of S and R. ‘
On the basis of the information given above answer the questions from 136 to 138.

§od &R I fabi ek
s&b® dTgden PQ,R, S, Tooaio Ues FoD o § BdyE Gof, Wine 38 EriTO.
Q8% RokH 9§,S PE&. RSE T o 3%,3 S8, Q, Rew pHE8S s7w. S,R o 03

U tﬁ*&r:‘{d).

=y $3rodo soedor RHeo 136 %308 138 $8& t3rpared asos.

136. Who sits opposite to T?
T& &ssm 5% &r8yT®? /( |
@9 G) R D U

(1 S _
137. If one neighbour of P15 T, then who is the other one?

P& w8 58,5 T0D: wByks Qo8 BFS &odd?
M) S @ R G U I

___.—-—‘-—.-——-._
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13S. Which of the following is not a pair of neipghbours?
(1) PandS (7)) Uand R
(3) QandT ) Tand R
& 1§08 T8S* B8 D8, B zob A0?
(1) P3cdasw S (2) URdoie R
(3) QS0 T () T8aiw R

139. There are 39 persons standing in a Iine. When counted from left to right, A and B are at
:l Gl ] ¥ . . g

9™ and 27" positions in the line. If C is between A and B and if there are five persons
between B and C, then the position of C in the line from the left is

39 So0b SgBoen L8 SEIS* 0D G, D350 So0d 50b8 Ke8o0dDth AL0cin Bes
3&Kdm 9 5 dasw 27 S a‘;a’&,‘: G, C wd 538 A Ddcsn B o gy wober,
B S08a3» C o o0&y 28088 ;’J,szgwoéj, WHPE &5 SHVS* G SHod C g, %o
() 21 2 22 (3) 20 (4) 23

To answer the questions from 140 to 142, consider the following information.
Given that

U={l1,2,3..-5500},

A = the set of all multiples of 6 in U,

B = the set of all multiples of 15 in U and

C = the set of all multiples of 10 in U.

Let |S|, denotes the number of elements in a set S. Then

140 5308 142 568 Ko BHOS BEPFISNOEETS & Bod DSSveo bios'ol3
U=1{1,2,3,...,500},
A=U&* 6 BoE), v dero D8,

B=U&* 15 B, @) Hedero 3008 320050

C=U&*d 10 Bg), wd) federe JDd

@ adass. (S| w30 dL8 S S' BT Hopgdy KrDRERE . SNy

140. |AUB|= "

o 90 (2) 100 @ o @ 120

141. |(AUBUC)|= X e
(1) 126 (2) 124 4) 120 (4) 100

142. The number of integers in U that are divisible by exnctly any two 0f 2, 3,3 is
2,3,5 08" piydorr BoBoSBE SrEH wrpodnd U SR P qosTe POPE
() 25 5 30 (3) 35 4) 24
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To answer questions from 143 1o 147, consider the following inlosmation
In a hostel there are 220 students. Out of them 1035 reacd new paper A, 90 pened nowspaper i,
73 read newspaper C. 35 read both A and B, 20 read both Aand €, 21 pead besth B amel € aned
9 read all three newspapers. Then

- . ] X

143 3008 47 380 So SHot Sdrodde ool & (808 JaJduw Hutud
- 4

-

& -4 — . - " . RO - A g P
- X “\"\a i‘{:}-""!at) 22(]3}05‘\ \Sredsens ;::‘;:;;’;“:::'\_ﬁ: o~ 3:.) Il]imus oo .b-'._""‘ “. -Il,._} k-:."”‘.,\r_,hr.l/.]

"
et - | “

N

90 Jocd Tror SIBE B B SHord, 75 Lod 70 @8 C A ddorde A Ldula B w

- - " - v o L < o i \
Vo803 35 08 SHIord, A S0 C o 308089 20508 shParde, B Sdaiu C o
Bo308R 23 Ho0d Sdford Lbckn Ando Sl I°T) S0suRr Y Lcd JduJor sy s

143. Number of students who do not read any newspaper is

-

< o @88 SE8IQ doplw Rowg

(1) 21 (2) 20 3 (4)

144. Number of students who read only one newspaper 1§
S3co of), o7 L85 drPgd Sa3 dogiiu Rowg

A) 141 (2) 151 3) 147 (4) 187

145. Number of students who read exactly two newspapers is o j
pdom Tod TT; S @80 63 533«.‘%9 Dopg
(1) 78 Z) Sl 3y 64 (4) 38 .

146. Number of students who read newspapers B and C but not A is
o S08en B, Coo S8 A& BaI0 Jopdho dewg
(1) 23 (2) 20 (3) 17 A1) 14

147. Number of students who read two or less number of pewspapers (s
Bods Bo wodsa) 88,8 TC S@%e $od Jovpqe Bom;
V“'j 192 (2) 2“] - {'!') :ll

wing 600 scienge students, 450 spudents are domg Physies, SO0 students
cpalcs and 400 students are doing Chegiry (Tf'"ﬁ':“}. studeats 186
students are doing both Physics uml. Mathematies and 330 students ane doing ph;“"“‘ and
Chemistry, 200 students are sl‘ud}'lng Al three subjeets. Fhen the sumber of studtents
doing both Mathematics and (,llc:lllslr}' i | | a
600 Zo0s Depd TE DOFRMA LR Kvpggt, 450 Dol AGHW T e,
500 508 2DT°gC e ﬁf_‘é."fiu mom 100 200 I&n‘*ﬁd_.aw &?sﬁﬁ#éﬁ'ﬁm-q&mw‘
N 02 B08 T F0 Souty dide SudoER, 1505108 davden

-ty Is%

W45%.}In a college hi
are doing Math

_ 80 a0 oG , _
wissdo ebiso S00R0 OIS r2o® Doduisy gad R Py

) 260y om0 D »
(1) 280 k£ - ne .
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149.

A misfit in the following sequence
1682, 1683, 1684, 1685, 1686, 1687, 1688, 1689, . ..

& (§0B EFQS° J/IFRG

»V 1% ™M
1682,.1683, 1684, 1685, 1686, 1687, 1688, 1639, . ...
(1) 1682 (2) 1685 3) 1687 4) 1689
150. In the following figure, the regions 1, 2, 3, 4, 5, 6, 7, 8 are shaded with the colours

Voilet (V), Purple (P), Blue (B), Yellow (Y), Orange (0), Red (R), Green (G) and Maroon
(M) respectively. If the figure is reflected with respect to /, and then reflected with respect
to /,. then the new order of the colours in the clockwise direction

Bod SrdE 3L Pdren 1,2,3,4,5,6,7, 8 ol S63m wa Sord (V),

e

Sosat Sorb (P), Deo (B), 5503 (Y), 802 (0), 363 (R), &5y (G) 58050 Do6rS

(M) Sotie8® 0D8. & 5¢rd) 8 [, o STrdgHo B0 v /,hom Sovddso Ty FEm
S8y SofHe (ESoo dSg HIS®

(1) ORMGBYVP | £) ORGMVPBY
(3) YORGMVPB 4) VPBYORGM

- The population of a town at present is 3,00,000. The growth rate of the population in

; : | 1
ted to be 6%, 7— ;
successive years is expected to be 6%, 7 2%, 5%, 105%, .. of the present population

The expected population at the end of 8™ year from now is

Q

I 1 '
ga'!don-: 60 _0 0 10_0/ I
Yo, T 5 Yo, 9%, 1 15 Ppoa b ﬁoéé&a:ﬁ@ AT, 8 ROJBY K06 So%¢d

595‘30'*5-5: NebreTond DR 2ver

2T oW T

(1) 5,70,000 (2) 5,50,000

— ) 530000 4 5,10,000.

_---‘-"-'-—-—___——
34-C
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1D, ODsRrve the statdments grven below
D The swe of the fnterior angles ot regular pentagon is S40°,

g : - )
aeh ingerior angle of a regular polygon ot a sides is Ll - --] x,

e
I E ;
s B T T G p

:“"-\,\3.-
R sawas
2, [ e e A 3
LY (D and (1D axe both true () (s e but (1) is fulse
Q) () s talse and (1D s e ¢H (D and (1) are both false
S0l EiSTed Relosed.
$ S o S S
D ol S0 SosasW woddFvre Sae 4 H0%,
e [1_2
N oo de ol o odedhad RS woddFwo [l | O
A mEte we et L (R S TR e "

BISX
Y (DL (D o2 Jode Jd50 Q) (D¥sg0, (1D wdsgo
3) (D udggo. (IDIoge ) (D, (1) w0 Todor &:9:6:‘53_0 -

.
‘4
LVY

@) 25 3) 55 \/(-nm 65

(1 43

e ) ' ‘o QeVE A1
and in a Tow the positions of A and B from lelt are sey enth and

154. When thirty persons st
SeVe spective
nwenty seventh resp : | l
; P is the middle person among t
- hetween Band CIf perso
persons betwe

% P f he left is

. nosition of P from t ' ’ .

(.: [Ef’.‘il't.ht- Pﬂ p ‘563395‘ :;)eJEJ‘jn' @oest 4‘\, B @.9;3 éséjw JCS-}'&)Q-@ Doon 5&:’6(‘: D88,
MEQNO,&:WES‘ Y T S80S Doy €8 B 8 ‘5!;;&2263 iﬂr}"‘ RS Sghyen
RIZ 23R :;C ;;5‘5350 duad SRSt p&ds 558 ot dSIY Dol PRSY Somg

p oz
35-C

ly. Another person C standing between them has exuctly five
! se standing between A and

——
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¢ as the cost of 5 pencils. If it costs Rs. 34 for buying 4 pens
f7 pens and 4 pencils (in rupees) is
, T aEy TS S 34 wond

o cost of 2 pens is the sam
s then the cost 0

Iok ddrdo. 4“';3;6301@3

155. Th
and 7 pencil

2 B B0, 5 DAY

7 20y, 4 QYR §‘5é.3“:‘0§630§ PE) (653‘3’0536:)
(1y 74 () 47 3) 43 4 6
S
[:10 pm reaches its destination at 2:20 pm the same day. If

156. A train starting atd station at
the speed the train is 48 kmp
$oest 1:10 pm 8 2005500808 Jeo (80T 8 @& 2:20 pm 8 D08, & Ben

h then the distance (in kms) travelled by the train is

€A :
g 48 8.5, wowd 6B Basrwe 363 drdo (8..00)
(1) 60 @ 72 3) 84 @ 56

PSR

157) A/water glass in the shape o
cnds are 4 cm and 2 cm. Then the vo

[Take T = —ZEJ
7

€ domy 3§ Grdost &X) IHTH A8 14 20.2. 0 D8 Tgred 4 0.0

f a frustum of a cone of height 14 cm. The diameters at the
lume of the glass, in cubic centimeters, is

23
220050 2 200.80. @HPE &8 TR0 IDOIre0, DIY ot ges* (n T m @"mg‘oé)
) | % :
(1) 7855: (2) 92-3—

Y |
g 1023 @ 1065

J

158. The students of a class are standing in some rows, All the rows have the same number of
students. If 3 students are added in each row, then there will be one row less. If three
students are removed in each row, then there will be two rows more. Then the number of
students in the class is -

a:é édﬁf’éeﬁ‘@ Dcs“gdqg)w ) SSdes &u:r)a:l&. ©) S B S® DETS 50@56_‘ Z)a‘gt%wagd:.
©S D638 S0 Dm“gdcge.};&a 008 28 Sy 8515008, Hd S%v% So0tHdd &)a‘gdqgvﬁ)

; N
- 80 St Shiden DhrhEow. © S8K8st N

(1) 18 ® 24 3y e ay 4

36.C
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GDP growth rate of some countries for two years 2015-16,2016-17 are tabulated below. Observe
the table and answer the questions 159 and 160.

Bodd Boddioen 2015-16, 2016-17 0% Bozodod &) d=ze GDP S)BBL0s Bod HedKes*
FomndEEZ00. SGES 5000 159 S:8080 160 BHOH Sirerwosioa.

Country 2015-16 2016-17
%o
A 6.6 8
B 7.3 > 7.4
C 12— 3.7
D 4.4 > 4.7
E 23 b 34
F 3.1 » 2.6
159. The country which witnessed the highest percentage of GDP growth rate next to C is
Cdhad ©8568 GDP vhihde »awd) $a3rd Bhoss) d¥o
A 2) E 3) B 4) D
160. The country that witnessed the lowest percentage of GDP growth rate is
eégey GDP 5)50t0d §306 BidoLo) Bdo
(1) C 2 D (3) E 4) F
161. The number that does not suit in the following sequence is
& §0b F&S° D0TFOR Jopg
5042, 5043, 5044, 5045, 50_4}6, 5047, 5048, 5049, 5050, 5051, ...
(1) 5049 ) , 3 505l (4) 3048
162, If T =M, forn=1, 2, 3, ... then T, =
" n(n+1
T,=201+2 ;-1 2, 3, .. w8 vy T, =
n(n+1)
g :
8 kS y 8 8 .
2 2 3 4] =
Y = A T T 6 21
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Answer the questions 163 to 166 using the following informatjon,

Given that

1 USD =70.99 INR, 1 AUD =0.708 USD, 1 EURO = 1.137 USD, and 1 NZD = 0.679 UsD.
(Here USD (U) = US Dollar, AUD (A) = Australian Dollar, EURO (E) = European Union
Currency, NZD (N) = Newzealand Dollar, INR (I) = Indian rupce)

& 808 JSrTind GHArAod 163 Sood 166 588 HHOK SdreTws (Tobes,
1USD=70.99 INR, 1 AUD=0.708 USD, 1 EURO = 1.137 USD, &8a%s | NZD =0.679 USD
8 AHVEIB.

(25,8 USD (U) = o083 weodd, AUD (A) = 520008 arod, EURO (E) = abrs'tes:s
aSeroDS (B850 (831)), NZD (N) = Srgeerod o, INR () = 28384 drdan)

5
Gddes
[

163. Increasing order of exchange values of INR (I), NZD (N), EURO (E), AUD (A) with

USD is
USD &' INR (1), NZD (N), EURO (E), AUD (A) o $36§ dense wsbiirm gdo
() LN,EA (2) E, NG @ LNAE (4) LEAN

164. The currency among the following which has the highest exchange value with EURO is
& §08 TS WSS wSgHE SrOEY Dens SRS (BiS50 ($35)
(1) U 2y 1 3) A (4) N
165. The currency which has the least exchange value with USD is
USD & wdgeny $68 dend Ko Bdg0 (83)
() N 2) A By E 4 1

166. The currency among the following which has the highest exchange value with AUD s
Bod a8&* AUD &* wdghs S70E ded Ke BSg50 (53:))

1 U @ I 3) N e

L ———

1471 In a certain code if the word WRITE ig coded as 136 and the word STUDY is coded 157,
then in the same code the word ‘READ” is ¢ e 4

a8 8'Gofes® WRITE @@ ‘JJG"‘QJ 136 gy STUDY e ;5&3’3)_)'157 sy B8 a-;%. 3‘-‘:5350
wd & ‘READ’ 0@ Hoib B'G '

(1) 25 (2) 50 ‘(3) 75 o (4) 125

3.
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AR-2 Booklet Code :| (C

[‘“]‘Lit‘:l‘.’ Iﬁllﬁlltl\%c : l!lu word ‘MISTER is coded as SGWWNS and the word ‘F OREST’ is
coaea as I'L', then the code for the word ‘PERSON’, in the same code language is

o8 B'6 e, *MISTER 03 L)) SGWWNS &, ‘FORE.S,_T’@ﬁ STayy)) ‘UUHVTL,
midor §'6 WY, wdyd ad §'6 it Hdo ‘PERSON’ S 66

(1) OPVUIW (2f OQYVIV

3) OQWVKY (4) OPWUKW

169.

In a code the letters of the English alphabet arc coded by numbers as follows.
Ao ,Zo2Bo3,Yo4,Cos5Xe6...

Then the code for COME TODAY is

0§ B6S* wol wiored dopgod® §obd Do 56 Bard.

Ao 1,Zo2,Bo3, Yol Cos5Xe06...

VHY EOME TODAY &%), §°6

(0 14,24,7,1 4,5,24,25,9

@) 524259 424714

(3) 2,211:#25,2 12,24,7, 1,4
4

4) 5,24,25,9 12,2611

170.

In a certain code language HYDERABD is coded as KBGHUDEDG. Then WARANGAL
will be coded in that language as

Yeny ®
8 §'& ?rjées‘ HYDERABD & KBGHUDEDG m §6& By, vIyE ©dE T AS*

WARANGAL &%, 56

(1) ZDVDQIDO 2 M_Q]DO
(3) zDUDPJDO 4y ZDUDQKDO

LZ1.

In a certain code language, if AGRA is coded as 1493241, then the code of BHADRA in

that code language is
GRA G0, §'6 1493241, wand, ety o 56 #as* BHADRA &g,

0§ B8 e’ A

56

¢) 4641163241 (2) 464116234L
}3) 464(123/%1—_/’__’* Q) 46432@_1__1_’

39-C
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172.

In a certain code language, if ADILABAD is coded as 76547276 and WARANGAL is
CO(‘lcd as 37170874, then in the same code language BANGLA is coded as

L€ 56 wras® ADILABAD &g, 56 76547276 $o0os» WARANGAL @ng), &
17170874 wond ©8 §6 ras’ BANGLA Gwg), §6
(1) 271347 (2) 270437 (3) 273047 @ 270847

173.

If the code for A is 1, that of B is 3, that of Cis 5, .. ., then the code for G is
L& 8655 A 1m, Ba3m, CASm,. .., drdy olyd Gang 86

@) 13 2 1 G) 19 4 17

174.

[f PRASAD is coded as 123435 then match the words of List-I to the codes of List-II.
PRASAD & 123435 §& T wdydd de” - [ 5°9 dored de - [ 59 §hedt

-é@%ﬁ%g. |
List- I List - IT
o - | e - [
A) SARADA ) 132353
B) DASARA ) 314323
C) PARADA 1) 432353
D) APSARA IV) 534323

The correct match is
BOGHS G

A B & D
(1) 1L A% 11 [
(» U \Y I g ]
@3 T m I
4) v I1I [ 11

]

~\

175.

)

If — denotes addition, + denotes multiplications and x denotes division, then
{39 x13)+6} -8= ~

— 080 ), + KHreeseoR), X armf’.ﬁoaagl 20, w9t {(39 X 13)+6} o Gl

X, 26 (2) 62 3) 34 \‘ (4) 42

s L
40-C
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176. Read the following:
In a certain code language
MONKEY is coded as LNMJDX then consider the [’ollowing

Assertion (I) 1 The code of FRANCE is EQZMBD.

Reason (II):  The pattern of the given code is A = 7. B — ;

(1) (I) and (II) arc correet and (II)&,is the correct cxpli;lziim: :)\f’ (C[:)_.> e G
2) ) fmd (I) are correct and (1) is not a correct explanation OF('I)

(3) (D is true, (1) is false. -

(4) (D) is false, (II) is truc.

& 808 WSS0a:

o8 56 rdest

MONKEY & LNMIDX rr §'80R 8% & (§0d o8 H8redotod

ASSeSo (1) 1 FRANCE 86 EQZMBD. |

s5*de00 (II): RS wSdGe0 (pattern) F6AZ,B-5>AC—-B,D-C,..
B (1), (1) oo Sergen, (1) 8 $88 288 (II).

(2) (I), (I) & Sergen, (1) 8 IV dH8ed (I) 5.

@B) (D)3850, (1) wdg0.
4) (1) wd&go, (II) Sg0.
In a code language BREAK is written as XHUYO. Then, FLUTE is coded in that code

177.
language as
o€ E°6 avhes® BREAK Q@ XHUYO mr (graneh. edyd, & 56 raes® FLUTE o), §°6

(¥, TNEFU (2) TMDEW (3) UNFEV (4) UNEFW
If in a code language DREAM is coded as FTGCO, then CURSE is coded in that code

178.

language as
o€ 86 o DREAM @ FTGCO m 86 3%, wiyd © 56 7ad CURSE &»%), §'6

(1) EVSWH (2) FXUVH (3) FYTUG 4T EWTUG

onsonant of English alphabet is coded as the immediate next consonant
Sis previot is i 1 er questions
as 1ts previous vowel. Based on this information answ q

In a certain coding cvery ¢
and each vowel is coded

179 to 181.
o8 §'8of ?.’J%ie?eﬁ" R0 vEsSr

IR D8 J00&d) @dnr)n‘;i:-
RHoLs BSrErd S0l

179. The code for the word ‘MANGO’ IS

3) 868 ST, B3

S0 98 T o 3%0Bobd
5 179 %06 181 365 Ko

£5 BT, & dSrardo sFdor

(4) NUPHI

MANGO’ a8 §6 - e
(1) NEPHU (2) NBOHP — ) NUOHL __ =
s,

A
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180. The string of letters that is coded as ‘CDEFG’ is
‘CDEFG’  §°6 @o%ag wiBSre
(1) BCAEF (2) BCIDF (3) BCEIF () BCADF

ﬁ The code for the word ‘LITMUS’ is

LITMUS’ 55708 §'8
() MEVNAT (2 MEVNOT  (3) MEUNVT (4) MEUNUT

Data Sufficiency: In each of the following questions from 182 to 191 you find a question
followed by two statements labelled (I) and (II). You have to decide whether these statements

answer the given question.

Mark your options as
(1), if statement (I) alone can answer the question,

(2), if statement (II) alone can answer the question,

(3), if both statements (I) and (II) are required to answer the question,

(4), if statements () and (II) together also can’t answer the question.

B0 HogHd 1 8o &) BHeo 182 S08 191 568 Ko B8 PHSEr .8 BY), ATl Tod

BSSTen (1), (1) 286500088, 2N @HE & PSS sT05iKeRRr BE' A AgowoTd)

&od. @a:)n'l) @-ég\) ‘ééra‘a‘&la’sswx)é

B35S0 (1) S 2038 9 ssrEdo (1) @9,

B350 (1) SrE@d 503 2 ddrwso (2) O,

BSsaen (1), (1) eo Bodr ©535308 (3) ©,

iéﬁa‘m (D), (II) © 3030 &JRFACDSNEE JFSrgrdsn 3BENE O ISreso (4) ©R
BozSodw. '

182. Who is tallest among A, B, C, D, E?
) Dis taller than B, but shorter than E
II) Cis taller than both B and E but shorter thar{ A
A, B,C,D,Eod&® @8 &hid J56?
I) Dod S8 Bsa 2468, A F §T) >, 2
) B,Ee sx CdK0, 53 Aty oy 3

183. What is the volume of the right circular cope9
I) Base radius of the cone is 12 ¢y, ‘
II) Semi vertical angle of the cone is 45¢
©ou )30 Fopod) Do8D0Ir0 oy |
) dogpoh Swg) drTgvdo 12“:.:0'53
) Yogod 0%, IGE Fmodse .

- _\\‘ - Vg A TR BT
42-C B :
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184.

AR-2

What is the total number of divisors of the positive integer #?
[)  nis product of distinct numbers.

II) nisthe cube of a prime numbers.

(555@)‘0;0§0 n B0, I0Eo FTRFO Sopg Jod?

) n D@-‘%jéoa:go ©RO. y
II) £, a8 vgreag Song Bog), Hdo.

GET IT ON
Google Play
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185.

Who is tallest among A, B, C?
I) Ais taller than B.
II) B is shorter than C.

A, B, C o¢* wdgod FEH8 J3627
[) Bis) ARdddad,
) Cso) Bargard.

186.

What is the rate of simple interest?
) Principal is Rs. 3,000
) Interestis Rs. 450

2 $& G Dod?
) oden & 3,000

1) $& & 450

187.

1D L 4 hek B0 dopg _ -

Let m and »n be positive integers. Is n even?
) mxnisan odd integer.
) m+tnisan odd integer.

m 38050 N &0 GO T;05

e, N0 Jopg oeon?
_— 7

D n;’ x n o Do LoPG: >

188.

What is the area of the right
I) The angles of the trian

II) Length
4 Sobgerdo @ebEo B

oo §e

) @gasEes 9053057
&9 1542 0 -

) $gs0

angled isosceles triangle?
gle are 90°, 30°, 60°.

of the hypotenuse is 15v/2 cm.
& 3TOLo Jod?

60°-

43-C
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the sum of the ten terms ol the arithmetic progression?
189. What is
)] The first term is 10.
1y The tenth term is 2 2.
w08 3800 SO 4ore ddo So6?

o,

H) 585 Bdo =
_ ___._“__.”___'_______,__._--—-'—"_—-__ ——

190. Is :\ a sister of B?
Iy Baisa sister of A
i) A is father of two children PP and Q

B A0 vydod?
) A& B30
P Qed 238 byots Adod

191. Did the person A get profit?
[)  The person A purchascd 9 bananas for Rs. 30.
[[) The person A sold 8 bananas out of 9 bananas for Rs. 32.

Acd éb_a_ e o SNoa?
D 9essigs A0 &r.of By,
) 9usBigs' 8 ssudgd A32 dr.ofh vs.

192. The mussing terms in the following sequence in the order they appear are

& 508 35S ¢'500% Jpen ©d 53& SE%eS?

S.L9,W,2,3, 0,53, ik

1) N, 4 .
e . () N6 (4 NS
193, The miss; T T

ng term of the sequence 1, 3, 6,10, 15, ,28,361s

RT3 1,3.6,10, 15, ,28
0y 16 1YY 1(,}) = 36&5’2}0&?& 580
il HB : ) 25
194, The e — ¥ 2 @~
X ey ¢ :rs the sequence CF, FLp - S

Vi g“ 5 (‘? “ ‘t ':Er) [ IL, LO IS -

“) (}‘! - ( &* G‘sa :350
S aae R 2) 0Q

T 13 OR | )(j_)_ff'_//

4.
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7 -{ ﬂf —
v . LB i .
195, The next terrs of the ssquence —, —. —. — 15
- A P -_— re
¥\ L B &E
7 %y T
- - -
/_-tﬂf_,":;:" —_ -;-—-# o ".:‘ amria i
A C E G -
: 7 P o~
" “ ., 9 2 2 - < o R
) ~— Y — 2 3 W 5
T a ! H

!(}f!’ F!f«r(o,’ Cr.—r’rr‘t"?t;aqr,/—v ’f’JB C C {"\: :_-:

wi Fiw VFP v u‘aa -

it 8,0, 5, G K, ME doup 240
S Zpy =
(1) € 2) O (3) P @ R

fased on the below information znswer the guestions iyom 197 0 200. In the figure given
below the square region represents post- rzz’.x.a;cs. the rectangle represents graduates, circle
resents private employees while the triangle represents Government employees.

=, i - Eo= - 2 d
197 Z:05 200 264 Ao EHes 33ro9Sge8. 8ob Sos”
T

!\‘

w o
’P'Ja) uw’?b &T‘::’.;dl

4 e LTS - B p s AEE e Bisziae3S = 2:5 A S
t;jfs;'jf,, :,:g ,‘.‘)453‘425 &;é:f.:’:. ::;, :"é‘?“'é’:”\:" L-JC-O f-....:s_L—-JM, ma_’o @35 USSNO&
Lol Btine GEE G gfonide Briaes
2
- \ 3
4
I 5 7 o 10
| 6
B Yh——
H—f_
Z 9 \
I3 =! t »:
prcscﬂiing non-graduatcS'employed either in Government or private
ns re

197, The region/regtor
is/are d9
1s/are 2) 9 (3) - 2an s
(1) 2 - _-,o,.):J?J 05‘8"‘""’ B n)..azi@m 5 :
Sthise 8T P ! Qa 505ojzo

45-C

4) landl0
400D PBFS/BHET e
{4) _ 150080 10
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198. The region 4 represents
(1) Graduate Government employees

(2) Graduate Private cmployces
(3) Post-graduate Government employees

(4) Post-graduate Private employces
Bddo 4 JrDoBb

(1) 2T P&ES & &'gen

(2) HLHE (PI0 &&gben

(3) NIFES ILFS @S G &g
}'4/)’ @é?éé :’;%_":5_@ G.fé.w & Gigred

199. The regions representing Post-graduate unemployed are

2 S6'88 HLFidos D& o Jordod @rogeo

(1) 5,6,7 (2) 5,6 3) 6,7 A4 5,17
QbD.. I, 5, 7 and 10 together represent

(1) Unemployed graduates (2) Employed graduates

(3) Unemployed post-graduates (4) Employed post-graduates

:-_‘_1;,5, 7,10 e 0% BrDoBd

(1) dG8g o (2) dS s&ghe

Iﬂ/ NG5 SEES Syacoen (4) NSEEE s&ghen

46-C
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